5) Richard hates it when there’s a ... as he likes to arrive on time.

PECMYBJINKAHCKAA OJIMMIMNALA LWKOJIbHAROB HA KYBOK umenn 10.A. TATAPUHA

A) [ difference B) L] moment C) L delay
6) Richard often watches films during the flight, or ... to the person next to him. N 20 1 7_20 1 8

A) U says B) L tells C) [ talks .{ YYEBHbIN rom

WORDFORMATION N
7. Complete the sentences with the right form of the word given in the brackets
) Nothingis .....ccccevuereeieeeee, if you put your mind in it. (Possible)
2) My parents think I'm ..o, because I'm always late. (Responsible) MYHULMUMNAABHbBI M STAM 5 WIEEE
3) lTwasfull of ..o, for his achievement. (Admire)
4) I'mreally UpSEt yOU WEre ..o with me. (Honest) Fopoa/paiioH WWkona Knacc
5) |thought my essay was fine, but my teacher told me I had to ................... (Do) DaMunus UMs
WRITING lepcoHanbHas uTorosan Tabnuua (3anonHAETCA yUMTENEM — YIEHOM I0pK 2 3Tana)

8. Continue please and write about 7-10 sentences. Use your imagination! ——n““n
. [ 1 [ |

| have got a new friend. He is an alien!

/

lognmck yumtena

HEJNTAEM YOAUYN!

OUO yumtena

LISTENING

1. Listen to Amy and James talking about planning a birthday party.
What job is each person going to do? For question 1-6 write a letter A-H next to each person
(You will hear the conversation twice)

1) Chris A) book the room
2) Amy B) buy a present
3) James C) buy party food 1 9 3 /i 5 4
4) Claire D) get drinks
5) Tom E) invite guests
6) Jane F) make cake
G) plan the music
H) put up ballons

READING

2. Read the text below. Then complete the gaps 1-8 in the text with eight of the phrases A-J

(There are two extra phrases)

A) about our universe F) because it was very popular

B) many years after his death G) for stopping a lift in dangerous situations
C) so no one believed it H) man-made orbiting satellite
D) to reach higher floors ) which later became a commercial freezer
E) in shops and supermarkets J) that the Earth orbited the Sun



MORE PEOPLE WHO CHANGED THE WORLD
Have you ever stood in a lift and wondered if it can crash to the ground?

There’s no need to worry! In 1854, the American engineer Elisha Graves Otis invented a safety brake
(1) . Three years later he designed the first passenger lifts in the United States. Thanks to Otis,
people no longer had to climb hundreds of stairs (2) , and so buildings could be much taller.
Thanks to Otis we have skyscrapers today!

The telescope was invented in Holland in 1608. The Italian astronomer Galileo Galilei heard about this new
invention in 1609 and soon he built his own telescope. He used it to prove his theory (3) . He also
used it to make important discoveries about the Moon, the planets and the stars. Thanks to Galileo, we
now know much more (&)

In 1925 the American inventor Clarence Birdseye created the world's first quick-frozen food. He was able
to develop a freezing process which kept food fresh and tasty. He then invented a fast-freezing machine
(5) . As a result of his work, there is now a lot of different kinds of frozen food which you can buy

(6)

Our world of modern global communications began on 4 October 1957, when the Soviet Union sent Sputnik
I into space — it was the first (7) . It was invented by aircraft engineer and rocket designer Sergei
Pavlovich Korolyov, but because of the Cold War, people all around the world didn't know about his
success until (8) . Also thanks to Korolyov, Yuri Gagarin made the first manned space flight in
1961.

USE OF ENGLISH

Read the article about the history of chocolate. Choose the best word (A, B or C) for each space.
For questions 1-9 mark M A, Bor C

THE HISTORY OF CHOCOLATE

The history of chocolate began (1)....... three and a half thousand years ago. At that time, people in the
Americas (2)....... As the Mayans and the Aztecs grew the beans and made chocolate drinks (3)....... them.
Around 1500, Christopher Columbus took cocoa beans to Europe, and chocolate drinks (4)....... became
popular in Spain. However, is wasn't until nearly 100 years (5)....... that people started drinking chocolate in
(6)........ parts of Europe.

In 1657, a Frenchman opened the first chocolate house in London. The drink was expensive, so only rich
peaple (7)....... enjoy it. Chocolate continued to become more popular, (8)......... it wasn't until 1847 that the
first modern chocolate bar was (9).......... . Now chacolate is available everywhere, and we also eat it in
foods like cakes, biscuits and sweets.

1) A) [ above B) L] between C) L much
2) A) O such B) ] most C) L much
3) A)DOby B) in C) (1 from
4) A)soon B) L1 ever C) L already
5 A O late B) [ later C) L latest
6) A) L both B) L1 other C) L1 every
7) A O must B) [ need C) O could
8) A) [ but B) [ because C) LJ when
9)  A) LI making B) L1 make C) L1 made

4. Complete the five conversations. For questions 1-6, mark M A, B or C
1) Where do you come from?
A) L1 New York.
2) We've just missed the 3 p.m. train.
A) L Shat | get it?
3) Do you want to come to the shops with us?
A) L That would be great. B) LIl don't mind it.
4) | haven't finished packing my suitcase yet.
A) U I'll take you on holiday. B) LJ When did it happen?  C) [ Well, hurry up then.
5) My sister's just had a baby!
A) L1 How lovely!
6) Is that Shelley in the blue coat?
A) L1 This is Amanda speaking.  B) [ She doesn't wantto.  C) L | think it may be.
5. Open the brackets 1-19 and use the right form of the verb

Mr Sherlock Holmes (1)
friend Dr Watson (2)
3) (leave) the day before. “To Dr Mortimer, from his friend,” (4)

Sherlock Holmes suddenly (5) (turn) to Watson, “The owner of the stick (6)

B) [ School. C) J Home.

B) L] In about an hour.

C) L1 Then let's get the next one.

C) L1 Not very often.

B) (] I'd love to! C) 1 Yes, she does!

(write) upon it

(8)

1(9)
answered Holmes. “They (11)
suppose the dog often (12)

(know) ?

(examine) that stick carefully and (10)

(carry) the stick behind its matter. It is a spaniel.”

After breakfast Holmes came up to the window. Watson (13)
how he (14) (can) be so sure of that.
1(15) (be) sure of it because (16)
(17) (wonder) why the visitor (18)
(19) (find out)!”

6. Read the sentences about travelling by plane. Choose the best word (A, B or C) for each space

1) Richard often travels to Canada to ... his family.

A) U stay B) L1 visit C) L spend

2) The airport gets very ... at weekends, so Richard travels during the week when it's quieter.
A) L1 busy B) I strong C) L1 heavy

3) Richard ... has a coffee when he arrives at the airport.
A) L1 already B) L once C) L1 usually

4) Richard ... looking around the shops before he gets on the plane.

A) L1 hopes B) LI enjoys C) LJ wants

(sit) one morning at the breakfast table in his room in Baker Street. His
(stand) near the window examining a walking stick which a visitor

(have) a dog
which (7) (be) larger than a terrier and smaller than a mastiff.” Watson was surprised. How you

(notice) the marks of the dog’s teeth on it,”
(be) too broad for a terrier and not broad enough for a mastiff. |

(think) for a second and then asked

(see) the dog with its master at our door. |
(want) to see Mr Sherlock Holmes. Well, we soon



